GEN IlI/IlV CHEVROLET SMALL BLOCK TO
NISSAN 300ZENGINESWARKKIT
Z32 TRANSMISSION

INSTALLATION INSTRUCTIONS

RevA May 2015

IINOTICE!
LOJ INNOVATIONS, LLC HAS PREPARED THESE INSTRUCTIONS TO MAKE YOUR P

INSTALLATION AS SIMPLE AND HAFTHEES POSSIBLE. INSTALLATION ISSUES EXPERIEN(
RESULT OF NOT FOLLOWING THESE INSTRUCTIONS ARE THE SOLE RESPONSIBILITY|

IWARNING!

THE USER OF THIS PRODUCT ASSUMES ALL LIABILITY FOR ANY DAMAGES TO PERSOI
PROPERTY RESULTING FREBMUSE OR MISUSE OF THIS PRODUCT. ANY INJURIES SUST|

THE USER AND/OR ANY OTHER INDIVIDUALS ARE ALSO THE SOLE RESPONSIBILITY ¢
MOTORSPORTS ACTIVITIES ARE INHERINTLY DANGEROUS AND LOJ INNOVATIONS, LL
HELD RESPONSIBLE FORMGIDENTS RESULTING FROM THE USE OR MISUSE OF THIS H







THIS PAGE INTENTIONALLY BLANK
BEFORE YOU BEGIN:

Please ensure that all of the components required for your installation have been included in your
packageThis willinclude:

- One pair of motor mounts with Qty. 8 M10x1.5 25mm bolts for attaching the mounts to the
block.YOU WILL RBSE YOUR ORIGINAL ENGINE MOUNT NUTS

- One transmission mount with Qty. 6 M10x1.25 30mm bolts for attaching the mount to the car.
YOU WILL REBYOUR ORIGINAL TRANSMISSION MOUNT NUTS

- One LS to Z32 Transmission Adapter with Flywheel and hardware

- One shifter elocation bracket with hardware

- One pair of heater core outlets

- One LS Heater Recirculation Block

INSTALLATION PROCEDRURE

1) After successfullyemoving your original engine and transmission, we recommend using this
opportunity to give your engine bay a good cleaning. It is always more pleasant to work on a
clean engine and vehicle.

2) Your first step will be installing your heater core outlets. rElie a howto video of this
installation procedure available in the support section of the LOJ Innovations Website. If you do
not have access to the video, some cliff notes are available below.

a. Cut the barb portion off of your existing heater core outlets

b. Clean the heater core outlets and use compressed air to blow as much remaining
coolant out of the heater core as possible.

c. Using emery cloth, scuff the outside of the heater core outlets.

d !aAy3a I oyé LI dzYo SNAE 0 NUzd KZI reio0tedd extensiéhS. Ay a A RS
e. Apply plumbers flux to both the heater core outlets and the inside of the heater core
extensions.

f. The heater core extension with a single bend is installed on the upper heater core
outlet, pointing diagonally upwards in line with tlewver outlet.

g. The heater core outlet extension with two bends is installed on the lower outlet and will
be oriented parallel with the upper outlet EAVE ENOUGH CLEARANCE FOR HOSES
AND CLAMPS!

h. Braze both of the outlets in place using a MAPP Gas torciplantbers solder.

3) { dzZLILI2 NI &2dz onnl E 2y 2101 &aidlyRa gsAGK G fSFad
ANRPdzyR® Hné Aad LINEFSNNBRO®



4) You will need to dent your transmission tunnel in two locations. The first location is just behind
a pocket in thdransmission tunnel where the speedo sensor lies. There is atbhavdeo on the
LOJ Innovations Website in the support section showing this. Pictures are included below for
reference. The top left image shows where the speedo sensor pocket is locatewpTright
image shows the area that needs to be dented. The bottom image shows the area after denting.




5) The second location where the transmission tunnel needs to be dented is where the starter
pocket is located. You will notice a seam in the mjeist behind the starter pocket. Use this
seam as a reference on how far back the pocket needs to be extended. Use the images below
for reference.The top left image is the starter pocket. The top right image is the seam used for
reference. The bottom imags the result after denting the floor.




6)

Remove the Lloint that is connecting the steering column shaft to the steering rack. There are
two M8 (12mm head) bolts holding this in place. Both bbitdST BE COMPLETELY REMOVED
It would be a good idea tsoak the splines in a penetrating lube to assist in removal. Thand
must be slid further up the column shaft in order to remove it from the rack. There is a plastic
orientation marker on the steering rack, leave this in place to ensure you reitigalijoint in

the same orientation! See the pictures below:




7) Once the steering column has been detached from the steering rack, you will need to remove
the four nuts holding the front subframe to the car. There are two M12 (17mm head) nuts on
eachsid2 ¥ (GKS OFNX» ¢KAa gAff Fff2¢ e2dz bady.f 2SN 0
The subframe will not fall if all of your suspension is still installed. You may need to use a prybar
to separate the subframe from the car. See the pictures belowdfrence:

8) Install the engine mounts onto your motor using the supplied hardware. The mounts are
marked Left and Right.

9) Install your LOJ Innovations Z32 300ZX to LSx transmission adapter in accordance with the
installation instructions. Yowill want the engine and transmission attached to one another
prior to installation.

10) Install your LOJ Innovations Z32 Shifter Relocation Bracket in accordance with the installation
instructions. DO NOT INSTALL THE SHIFTER!

IMPORTANT The UJoint has metacaps that contain many small needle bearings that can be Ibs
the cap comes off the LJoint! Be careful not to lose these bearings as they cannot be purchased
separately from Nissan!




